Negative Zahlen Variante 6 Klasse: Datum:

Subtraktion bis 100 Blatt 43 Name:

@ a) (+34) - (-25) = b) (-23) - (+41) =
9 (88) - (-66) = Ve - ey o=
e) (-45) - (+26) = ) (-93) - (-98) =

@ a) (+54) - (-33) = b) (-31) - (+65) =
C) (_91) - (_35) =1 d) (+23) - ('74) ol N
e) (-41) - (#31) = ) (-49) - (-67) =

@ a) (+40) - (-32) = b) (-36) - (+63) =
) (1) - (3 = V22 - cem =
® (-s6) - (+29) = D ey - (8 =

O N e (22 - (e =
9 (52 - (33 = V29 - e =
® (-371) - (+24) = D an - 8o =

@ a) (+33) - (-21) = b) (-26) - = -6l
©) - (-59) = -19 D (v - (-1 =
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Negative Zahlen Variante 6

Subtraktion bis 100 Blatt 43

@ a) (+34) - (-25) = 59 b) (-23) - (+41) = -64
9 (-88) - (-66) = 22 REC ORI CE NS
e) (-45) - (+26) = 71 ) (-93) - (-98) = 5

@ a) (+54) - (-33) = 87 b) (-31) - (+#65) = -96
C) (_91) - (_35) = -56 d) (+23) - ('74) =\ .21
e) (-41) - (#31) = -72 ) (-49) - (-67) = 18

@ a) (+40) - (-32) = 72 b) (-36) - (+63) = -99
(1) - (-39 = a1 V22 - (o9 = a1
©) (.s6) - (+29) = -85 D (61 - (-85 = 24

@ a) (+55) - (-25) = 80 b) (-22) - (+34) = -56
9 (52 - (-3 = .19 RECOIEN LIS
e) (-37) - (+24) = -61 L (-47) - (-80) = 33

@ a) (+33) - (-21) = 54 b) (-26) - (+35) = -6l
© (-78) - (-59) = -19 D (v21) - (1) = 92
e) (-28) - — 54 f) - (-98) = 45
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